
.$7$ 3(1*$17$5
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3HQHOLWL MXJD PHQJXFDSNDQ WHULPD NDVLK VHEHVDU�EHVDUQ\D NHSDGD 7HONRP

8QLYHUVLW\� NKXVXVQ\D 3URJUDP 6WXGL ,OPX .RPXQLNDVL� )DNXOWDV .RPXQLNDVL GDQ

%LVQLV NDUHQD GLEHULNDQQ\D NHVHPSDWDQ XQWXN EHODMDU GL NDPSXV WHUFLQWD LQL� 'LGDODP

SHQHOLWLDQ LQL� SHQHOLWL WLGDN PXQJNLQ ELVD PHQ\HOHVDLNDQ WDQSD EDQWXDQ� ELPELQJDQ�

GLVNXVL� GDQ ZDZDVDQ GDUL EHUEDJDL SLKDN� 2OHK NDUHQD LWX SHQXOLV PHPEHULNDQ WHULPD

NDVLK VHEDQ\DN�EDQ\DNQ\D GDQ SHQJKDUJDDQ NHSDGD �

�� %DSDN 3URI� 'U� $GLZLMD\D 6�6L�� 0�6L VHODNX UHNWRU GDQ SLPSLQDQ WHUWLQJJL

8QLYHUVLWDV 7HONRP EHVHUWD MDMDUDQQ\D DWDV L]LQ \DQJ GLEHULNDQ VHODPD SHQ\XVXQDQ

VNULSVL LQL�

�� ,EX $GH ,UPD 6XVDQWL 3K�'�� VHODNX 'HNDQ )DNXOWDV .RPXQLNDVL GDQ %LVQLV

8QLYHUVLWDV 7HONRP EHVHUWD MDMDUDQQ\D DWDV L]LQ \DQJ GLEHULNDQ VHODPD SHQ\XVXQDQ

VNULSVL LQL�

�� ,EX ,GROD 3HUGLQL 3XWUL� 3K�' VHODNX .HWXD 3URJUDP 6WXGL ,OPX .RPXQLNDVL

8QLYHUVLWDV 7HONRP DWDV L]LQ \DQJ GLEHULNDQ VHODPD SHQ\XVXQDQ VNULSVL LQL�

�� %DSDN $ULH 3UDVHWLR� 6�VRV�� 0�6L VHODNX GRVHQ SHPELPELQJ VD\D \DQJ

PHPELPELQJ VD\D PXODL GDUL PDWD NXOLDK 3HQHOLWLDQ .DU\D ,OPLDK KLQJJD VNULSVL� <DQJ

PHQJDMDUNDQ VD\D PHQJHQDL SHQHOLWLDQ OLQJXLVWLN GDQ PHPEXND SLNLUDQ VD\D XQWXN

PHODNXNDQ SHQHOLWLDQ LQL GDQ VXGDK PHPEHULNDQ VHOXUXK ZDNWX� DUDKDQ� GDQ NHVDEDUDQ

GDODP PHPELPELQJ VHKLQJJD SHQHOLWLDQ LQL ELVD WHUVHOHVDLNDQ GHQJDQ EDLN GDQ WHSDW

ZDNWX�

�� ,EX .KDULVPD 1DVLRQDOLWD� 6�6RV� 0�$ VHODNX GRVHQ ZDOL \DQJ EHUVDEDU

PHPELPELQJ VD\D GL OLQJNXQJDQ EDUX \DLWX OLQJNXQJDQ SHUNXOLDKDQ�

�� $\DK� ,EX� $GLN� GDQ .DNDN \DQJ VHODOX PHQGXNXQJ VD\D VHODPD SHUNXOLDKDQ

VHKLQJJD VD\D GDSDW PHQ\HOHVDLNDQ SHUNXOLDKDQ GHQJDQ EDLN�

LLL



�� 7HPDQ�WHPDQ ELPELQJDQ VD\D 0XKDPPDI )DX]DQ $F\XWR GDQ 5D\KDQ $]PL

\DQJ WHODK PHPEHULNDQ VHOXUXK ZDNWX GDQ LOPX GHQJDQ LNKODV XQWXN VD\D VHKLQJJD VD\D

GDSDW PHQ\HOHVDLNDQ SHQHOLWLDQ LQL�

�� 7HPDQ�WHPDQ VHMDZDW VD\D VHODPD PDVD SHUNXOLDKDQ \DLWX $]N\� $QJJL� $OGR�

=XOPDQ� 5DPD� +DJL� )DKUL� 1DXIDO� $NEDU� .HYLQ GDQ ODLQ�ODLQ \DQJ WHODK PHQGXNXQJ

VD\D VHODPD PHQMDODQL SHUNXOLDKDQ�

�� 7HPDQ�WHPDQ GL NDPSXQJ KDODPDQ VD\D 0XKWDGL� $OGR� -DNREXV� ,OKDP�

$YLWRIDVDSXWUR GDQ $]L] \DQJ VHODOX PHQHPDQL VD\D VHODPD SURVHV SHQHOLWLDQ GDQ

PHPEHULNDQ GXNXQJDQ XQWXN PHQ\HOHVDLNDQ PDVD VWXGL�

��� 3DUD WHPDQ�WHPDQ /RNDWDUD \DQJ WHODK PHPEHULNDQ LOPX MXUQDOLVWLN GDQ

PHPEHULNDQ GXNXQJDQ XQWXN PHQ\HOHVDLNDQ SHQHOLWLDQ LQL�

��� /LQWDQJ $\XOLVWK\D VHODNX NHNDVLK VD\D \DQJ VHODOX PHQGXNXQJ VD\D GDUL DZDO

SHUNXOLDKDQ KLQJJD VHNDUDQJ GDQ VHODOX LNKODV PHPEDQWX VD\D GDODP PHQ\HOHVDLNDQ

PDVD VWXGL SHUNXOLDKDQ�

3HQHOLWL PHQ\DGDUL EDKZD GDODP SHQHOLWLDQ LQL PDVLK EHOXP VHPSXUQD� EDLN GDUL

SHPEDKDVDQQ\D GDQ SHQ\DMLDQQ\D� +DO WHUVHEXW GLNDUHQDNDQ NHWHUEDWDVDQ SHQJHWDKXDQ

SHQHOLWL PLOLNL� 3HQHOLWL VDQJDW DPDW PHQJKDUDSNDQ VDUDQ GDQ NULWLN \DQJ EHUVLIDW

PHPEDQJXQ DJDU PHQ\HPSXUQDNDQ SHQHOLWLDQ LQL GDQ EHUPDQIDDW XQWXN LOPX

SHQJHWDKXDQ�
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